Example 4: The equation of alineis y=3x+b.
Determine the y — intercept (b) when the line passes
through the point C (-1, 1). @vasinmatase
Solve : i
@ graphically y-int. Zand
me3 e pont C (-1,1) (b)
1 = run -5 0 5
from the graph, {b = 4}
@ a.lgebralcallg JZ'/!’ | .
ys 3x+b c(-n1)
1=3-1)+b

l=-3 +b

Example 5: The equation of alineis y=mx+2.

Determine the slope (m) when the line passes

through the point 4 (-5, 1). it
Solve:

Q@ grophically 5
b=2 (0,2) Po'ln‘l' A (-5,0)

-5A 0 5

® a.lgebml'co.lla L" P
S

v Y
g:MX'l’z. A’(’ 1)

| =m(-5) +2
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/ rate (slope)

Example 6: The student council sponsored a dance. A ticket cost $5 and the cost for the DJ was $300.

¢ dependent variable

a) Write an equation for the Profit, P dollars, on the sale of ¢ tickets.
S S A< independant constant
J variable value

we subtract 36D since +his

is & cost (not a profit)

b) Suppose l%:ipeOple bought tickets. What was the profite

St p- 5(123) - 300
= 615 - 30D
c) Could the profit be exactly lMé? Justify your answer.
146 = 5t -300 ~r Cant have a Por'h’on of o ‘h‘clu%,
+300 "5“/, 89172 =t SO $14b cannot be o prefit
4—;9 N % value . o Constant value
Example 7: You have a part time job working ata restaurant. You earn $40 per shift plus 10% of the
tips. q
a) Write an equation for your total earnings, E dollars, when the tips are ¢ dollars. Mmust be
A written a5 &
= me+b i :
y n * decimal ,

variable
10% = o.10

b) What will you earn when the shift's tips are $3502
L
bl 4
E= 0.10(350) + 4o
S 3%+40

Practice: p.362 #4-6,8,9, 12— 14
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